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Instructions : (1) Options are internal.

(2) Figures to the right indicate full marks.

SECTION -1

1.  Answer any two out of three from the following questions. Each answer should be in
about 750 words. 20

)]
2
3)

2. (A

(B)
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Discuss the main objectives and aims of Brahmanic Education Period.
Describe medieval education system and its main characteristics.

Describe teacher-student relationship in Buddhist period education. According to
you, which two things should be woven in our modern education system ?
Discuss.

Answer any two out of three from the following questions. Each answer should
be in about 125 words. 10

(1) Explain development of education during East India Company.

(2)  Discuss major approach of higher education after 1956’s UGC Act.

(3)  Write a short note on “Sergeant Report™.

Answer the following five questions in short. 5
(1) What do you mean by ‘Tisvira’ ?

(2) Explain the term — ‘Maktab’.

(3) State the merits of Buddhistic education.

(4) Give the two reason of the establishment of Saddler commission.

(5) In which year Sergeant report published ?
3 P.T.O.



SECTION - 1I

3. Answer any two out of three from the following questions. Each answer should be in

about 750 words. 20
(1) Discuss the study of economics of education is essential in modern times.
(2) Discuss critically — “Do you think education as industry” ?
(3) Examine education as (1) Economic goods and (2) Consumption.
4. (A) Answer any two out of three from the following questions. Each answer should
be in about 125 words. 10

(B)

JD-125

(1) Explain the importance of human capital investment.

(2) Explain the Direct (social and private) Benefits of Education.

(3)  Write a short note on “Cost-Benefit Analysis”.

Answer the following five questions in short. 5
(1) How education becomes investment ?

(2) Indicate the concept of economics of education.

(3) What is human investment ?

(4) Explain economic growth.

(5) What is opportunity cost ?
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SECTION-1
1. Answer any two of the following questions. Each descriptive answer should be in about
700 words. 20
(a) Explain the meaning of percentile rank and find percentile ranks for X = 52 and

for X = 80 from the following data and interpret the results.

Scores in Maths 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90

Number of students 2 4 9 12 10 6 4 3

(b)

©

By giving the meaning of skewness, calculate coefficient of skewness by Karl
Pearson’s method and interpret it.

Class 10-19 | 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99

Frequency | 2 9 9 21 | 20 | 19 | 10 8 2

Frequency distribution of the scores obtained by the students in Mathematics is
given below. Calculate measurements of central tendency of check whether this
distribution is symmetrical or not. Give your decision on the basis of these
calculations.

Scores in Maths 11-20|21-30|31-40|41-50|51-60{61-70|71-80|{81-90|91-100

Number of students| 2 8 10 19 | 21 19 10 8 2

2. (A) Answer any two of the following questions. Each descriptive answer should be in

JD-125

about 125 words. 10
(a) Calculate P 47 for the following frequency distribution and interpret it.

Score in English 11-20121-30(31-40{41-50|51-60|61-70|71-80 | 81-90
Number of students 4 8 18 24 20 12 9 5

(b) The following information is derived from the scores obtained by the
students of two classes of Std.-10. Calculate combined standard deviation
for the same.

Class Number of Mean Standard Combined Mean
students Deviation
10" A 44 ? 5.20
& 70
10" B 56 64.75 6.20

(c) Explain with example : Interval Scale method, Ratio Scale method.

8



(B) Answer the following questions briefly : 5

(a) What will be the value of standard deviation of the age of 40 students on
9-12-2015, who were born on 10-12-2000 ?

(b)  Score of 84.13% of the students are less than or equal to 55. If the mean of
this symmetrical distribution is 42, what is standard deviation of the same ?

(c) State any one limitation of cumulative frequency graph.

(d) Median of a series with 100 observations arranged in ascending order is 40.
If first 40% observations are divided by 2 and 5 is added to each of the
remaining observations, what will be new value of median ?

(e) IfQ,=25and M =75 of a symmetrical distribution, what will be the value
of Qy ?

SECTION-2

3. Answer any two of the following questions. Each descriptive answer should be in about
700 words. 20

(a) Mean of the scores obtained by the students in English Grammar Test is 50 and
the mean of the scores of the same students in English Achievement Test is 55.
Standard deviation of the scores of both the tests are 5 and 8 respectively. If the
coefficient of correlation between the scores of the students in both the tests is
0.8, estimate the score of a student in Grammar test who obtained 70 marks in
achievement test and also estimate the score of a student in achievement Test,
who obtained 70 marks in Grammar Test.

(b) Scores of boys and girls of standard-10 of a school in Emotional Maturity Scale
are given below. Is there significant difference between the mean scores of both
the groups ? Check it.

Boys |[32(32|18(34|26(30|38|10{28|29|41|40

Girls |24|30(18|24|37|25|33|35|26| — | — | —

(c) Write the answers of the following questions. Show the calculation, if necessary.

(i)  Write the formula to find out the value of coefficient of alienation.
() If ¥d? = 120 and rank correlation coefficient is 0, find the value of n.

(ii1)) Write the formula to calculate standard error of difference between the
medians and give the meaning of each symbol used in it.

(iv) Explain the meaning of sampling distribution.

(v)  State whether one tailed or two tailed test will be used to find the effect of
language ability development programme on language ability of the
students, if language ability test is administered before and after applying
programme. Why ?

JD-125 9 P.T.O.



4.  (A) Answer any two of the following questions. Each descriptive answer should be in

(B)

JD-125

about 125 words.

(a) Write a definition of correlation and calculate correlation coefficient by
Spearman’s method for the following data :

Scores in Maths [32(32/18/34|26|30|38(10|28|29|41|40
Scores in Science|24|30(18|24|37(25|33|35(26|42|44(12

(b) Two ‘Yes’, ‘No’ answer type of questions are asked to the highly achieved
students of a school in the context of their educational problems. Detail of
their response is given below.

Question-1 Total
‘No’ Answer | ‘Yes’ Answer
‘Yes’ Answer 87 95 182
Question-2
‘No’ Answer 109 109 218
Total 196 204 400

Is there any significant difference between the percentages of the students
giving ‘Yes’ answer in both the questions ? Find the answer with proper
calculations.

(c) Mean of the scores of the candidates having B.Ed. degree in Teaching
Aptitude Test (TAT) is 75 and the standard deviation of the same is 9.58.
Find average of confidence interval at 0.05 and 0.01 level and interpret it.

Answer the following questions.
(a) Why two regression lines have been there ?

(b) Write a formula to find out standard error of the difference between two
correlation coefficients ?

(c) Correlation coefficient between two variables is 0.07. If 0.2 is added to
each of the scores of both the variables, what will be new correlation
coefficient ?

(d) Write a formula to find out standard error of standard deviation.

(e) Explain } error with example.

10
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Instructions : (1) Read the questions carefully and answer to the point.

(2) Marks will be deducted for irrelevant answer.

(3) Answer both sections in separate answer book.

SECTION -1

1. Answer any two of the following questions. Each answer should be in about
750 words. 20

ey

2
3)

2. (A

(B)

JD-125

Discuss the following points with reference to Item Analysis :

(1)  Objectives

(1))  Difficulty value of item

(ii1)) Discrimination Power of item.

Give the meaning of validity. Discuss the types of reliability of validity.

Discuss characteristics of good psychology test. Explain use of psychology test.

Answer any two of the following questions. Each answer should be in about
125 words. 10

(1)  Give the meaning of piloting. Mention objectives of piloting.

(2) Clarify the difference between norm-referenced and criterion referenced
tests.

(3) Explain the types of Reliability.

Answer the following questions in short. 5
(1) Mention two objectives of pre-piloting.

(2)  Give the definition of psychological testing.

(3) Why discrimination value is required ?

(4) Clarify two differences between individual test and group test.

(5) Why norms are required ?
13 P.T.O.



SECTION -1I

3. Answer any two of the following questions. Each answer should be in about
750 words. 20

(1) Discuss the Weschsler Adaption Intelligence test.
(2) Discuss the rating scale and inventories personality measurement approaches.

(3) State the method of constructing attitude scale of Thurston. Mention merits of
Thurston method.

4.  (A) Answer any two of the following questions. Each answer should be in about
125 words. 10

(1)  State the use of Intelligence test.
(2) Clarify the relation between interest and aptitude.
(3) Discuss about Ink Blot Projective technique of Rorschach.
(B) Answer the following questions in short. 5
(1) Mention any two famous DAT test series.
(2) Mention two limitations of Likert Attitude Scaling method.
(3)  Who is Gujarati adaptation of C.P.Q. ?
(4) Mention two advantages of achievement test.

(5) Mention two benefits of TAT projective technique.

JD-125 14
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SECTION -1
1.  Answer any two out of three from the following questions. Each answer should be in
about 750 words. 20
(1) State the objective of Cognitive Domain and discuss them with reference to the

2)
3)

2. (A

(B)

following points :

(a) Meaning (b) Specific objectives (c) Expected behavioural changes
Explain distinguish between ‘Evaluation” and ‘Measurement’, discuss in detail
about the basic principles of Evaluation.

Explain the objectives of psychomotor domain according to Dr. Bloom’s
Taxonomy. Give the illustrations of the objectives of psychomotor Domain.

Answer any two out of three from the following questions, each answer should be

in about 125 words. 10
(1) Clarify the inter-relationship between Evaluation and Curriculum.

(2) Clarify the scope and need of the educational evaluation.

(3) Explain in brief the objectives of affective domain.

Answer the following question. 5
(1) Explain concept of measurement.

(2) State any one importance of evaluation.

(3) What is Open-book Exam ?

(4)  State the expected behavioural changes of any one objective of Affective Domain.
(5) State limitation of Online Exam.

SECTION -2

3. Answer any two out of three from the following questions. Each answer should be in
about 750 words. 20

(D
(2)
3)
4. (A)

(B)

JD-125

Explain Concept of Grading. Explain the difference between Grading and Marks.
What is Question-Bank ? State the steps of its construction and explain its importance.
Clarify the difference between Norm Reference and Criterion Reference Test.

Answer any two out of three from the following questions, each answer should be

in about 125 words. 10
(1) Discuss the steps of the construction of Criterion Reference Test.

(2) What is Semester System ? State its advantages and limitations.

(3) What is Item Analysis ? State the Item Analysis in Norm-Reference Test.
Answer the following questions in short. 5
(I)  What is Summative Evaluation ?

(2) State the use of Progress Report.

(3)  State the use of Computer in Evaluation.

(4) What is Proficiency Test ?

(5) What is Continuous Internal Evaluation ?
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